Posted by marcodor on Fri, 21 Feb 2025 09:49:12 GMT

View Forum Message <> Reply to Message

select
b.id, b.fdate,
c.code, c.name
from ta_bundle b
left join ta_entity ¢ on (c.id = b.entity_id)
rows 1000 to 1010

Select Expression
-> First N Records
-> Skip N Records
-> Nested Loop Join (outer)
-> Table "TA_BUNDLE" as "B" Full Scan
-> Filter
-> Table "TA_ENTITY" as "C" Access By ID
-> Bitmap
-> Index "PK_TA_ENTITY" Unique

Scan

TA_BUNDLE - 1010
TA_ENTITY - 1010

select
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b.id, b.fdate,

c.code, c.name
from ta_bundle b
left join lateral (

select c.code, c.name

from ta_entity c

where c.id = b.entity_id) c on true
rows 1000 to 1010

select

b.id, b.fdate,

-- ? c.code

(select c.name from ta_entity ¢ where c.id = b.entity_id)
from ta_bundle b
rows 1000 to 1010
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